MTH245	Unit 2 Module 3	Self-Check

1.  The Standard Form of a Line is
a.  y = mx + b
b.  f(x) = mx + b
*c.  Ax + By = C
d.  Ax + By + C = 0

2.  Which is not a method for solving a system of equations?
a.  Graphing
b.  Substitution
c.  Elimination
*d.  Replacement

3.  A family of isolines will 
a.  Have the same values for A, B and C
*b.  be parallel
c.  Intersect at the solution point
d.  Have the same y-intercept

4.  A jewelry artist has 64 feathers available for the collection she plans to make.  Each necklace requires 5 feathers and each pair of earrings requires 4 feathers.  If n = the number of necklaces and e = the number of pairs of earrings she will make using the feathers, then her model would be
a.  4n – 5e = 64
b.  4n + 5e = 64
c.  n + e = 64
*d.  5n + 4e = 64

5.  A baker has 100 pounds of apples available.  An apple pie uses 2 pounds of apples, a loaf of apple bread uses 0.5 pounds and a pint of apple butter requires 1 pound of apples.  Let x = # of pies, y = # of loaves and z = # of pints of apple butter.  The constraint model for the apples would be:
a.  x + y + z = 100
*b.  2x + .5y + z = 100
c.  2x + y + .5z = 100
d.  x + y + z + 100 = 0

6.  In a toy factory a top requires 30 minutes to paint and a car requires 45 minutes to paint.  let t = the number of tops and c = the number of cars.   If there are 8 hours of labor available each day for painting, then the a model for the number of tops and cars that can be painted in a day would be 
a.  30t + 45c = 8
b.  t + c = 8
*c.  0.5t + 0.75c = 8
d.    0.3t + 0.45c = 8

7.  True/False	A company spends $2 to manufacture a bag of cat food and $3 to manufacture a bag of dog food.  Let c = # bags of cat food and d = # of bags of dog food, then the Cost isolines for the company would be 2c +3d = C
*True

8.  True/False 	The coffee kiosk on the corner earns a profit of $0.35 for each cup of Mocha Freeze and $.25 Iced Chai Latte.  If m represents the number of cups of mocha sold and c represents the number of cups of chai, the Profit isolines for the company would be .35m + .25c = P
*True

9.  The solution to x + 2y >=6 is given by the graph:
a. 
*b. 
c. 
d. 
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